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QUESTION 1

Which statement regarding scheduling SAS Data Integration Studio jobs is true?

A. To schedule a job flow you must first use SAS Management Console to deploy the job for scheduling.
B. To schedule the job on the Platform Process Manager you require a dependency generator.

C. Multiple job flows can be scheduled to a deployment directory.

D. To schedule a job flow in SAS Management console you must first deploy the job for scheduling using SAS Data
Integration Studio.

Correct Answer: D

QUESTION 2

Given the table below as a source table for the Transpose transformation in SAS Data Integration Studio:

,_'?._‘r\. Mame @ Monkh @ pay
Lee Jan 200
Lee Feb 1000
Lee Mar 1100
Smith Jan 3000
Smith Feb 4000
Srith far &00

In the Options tab in the Properties window for the Transpose transformation, if the columns are assigned as follows:
Select columns to transpose (VAR statement): Payment Select a column for Output column names (ID statement):
Month Select columns whose values define groups of records to transpose (BY statement): Name Which of the
following tables is a possible resulting target table?
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Autame | Zudan | A Feb |4 Mar

Lee 200 1000 1100
Smith 3000 4000 &0O0
il 3
Ay Name | /4 dan | A\ Feb | /A Mar
Lee 1000
Les 200
Les 1100
Smith 4000
=mith 3000
~ g, [tk a00
A Month | lee | & Smith
ehb 1000 4000
Jan 200 a000
-~ o IMar 1100 =00
Aupayl | dapay2 | Aipayd | Aipayd | AupayS | /A pave
flLee Smith Lee Smith Lee Smith
IFEI: Feb Jari Jan Mar Mar
C p I 1000 4000 200 000 1100 =00
A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Correct Answer: A

QUESTION 3

Select the valid reasons for using SAS Data Integration Studio\\'s Table Loader transformation. (Choose two.)
A. Create and replace permanent tables.

B. Maintain access privileges to permanent tables.

C. Apply and maintain constraints on permanent tables.
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D. Delete and remove permanent tables.

Correct Answer: CD

QUESTION 4

The profile reports generated in dfPower Profile jobs are viewed:
A. in dfPower Profile (Viewer)

B. in the Reports tab of dfPower Profile (Configurator)

C. in any HTML viewer

D. in any text viewer

Correct Answer: A

QUESTION 5

A SAS Data Integration Studio job was successfully scheduled and the appropriate event for triggering it occurred.
Which statement describes the situation correctly?

A. The scheduling server calls the SAS DATA Step Batch Server over the SAS Object Server which spawns the job,
getting its source code from the deployment directory, and sends the results directly to the Schedule Manager plug-in of
the SAS Management Console.

B. The scheduling server uses the command obtained from the SAS DATA Step Batch Server and the source code from
the deployment directory to run the job. The results from the executing command are directly sent to the scheduling
server.

C. The scheduling server uses the command from the deployed job in the deployment directory and executes it with the
SAS DATA Step Batch Server which gets the source code from the Metadata Server. The results are sent back to the
deployment directory.

D. The scheduling server uses the command obtained from the Schedule Manager, the source code from SAS DATA
Step Batch Server and executes it. The results are directly sent to the scheduling server.

Correct Answer: B
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